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1130

Menti :
. Aention of (he Matsya Janpad is found firstly
1 the -

(A) Rigveda
(C) Samaveda

(B) Yajurveda
(D) Atharvaveda

‘;??1 SIS &1 AU Jooid e A e
(A) 3qg § (B) a9dg A

(C) §rmag (D) Jrerda #

Who among the following Governors of
Rajasthan died, while in the office?

(1) Shri Darbara Singh

(ii) Shri Nirmal Chandra Jain E
(iii) Shri Shailendra Kumar Singh

(1v) Shri Kailashpati Mishra

Choose the correct code -

(A) (1) and (i) (B) (i) and (iii)

(C) (i), (i) and (iii) (D) (ii) and (iv)

o & frfaaa wregaret § 9 e @
7 UT W &4 §Y §
DEIRASINATH
(ii) & faefer == o
(iii) ¥z IR 48
(iv) i Dorerafa A5
& @ BT T BT —
(A) (i) 3R (ii) (B) (i) 3R (iii)
(©) (i), (ii) 3R i)~ (O) (@) 3R (iv)
Which one of the following (Baori - Place) is
correctly matched?
(A) Chand baori - Abhaneri
(B) Trimukhi baori - Churu
(C) Nulakha baori - Jaipur
(D) Jhalibab baori - Sikar

St § 3 A @@ - )

gAferd &7
(A) T qrasy — SATARY
(B) B Frasl — go

(C) Arerar das! — SAYR
(D) SITElET qES! — WY
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4. Which one of the following (Mineral — Mine)

is not correctly matched?

(A) Lead and Zinc — Rajpura Dariba
(B) Manganese — Kalakhunta

(C) Iron Ore — Dabla

(D) Copper - Lilwani

Pretferfaa & & ®Yeren (@frsr — @) gafera
I8} 87

(A) AT 3R e — TR S dET

(B) #Tit — BT

(C) diig 3 — Sl

(D) qigT — i@t

- Wakal, Meshwa and Hathmati are tributaries

of -

(A) Mahi River

(B) Banas River

(C) Sabarmati River
(D) Chambal River

e, et AR goRy e Al € -
(A) 7Y TS B

(B) g <Ta!

(C) \TeRHAl LT Bl

(D) T & @l

. Which one of the following (Conservati

Reserve - District) is not correctly matched
(A) Phulwari ki Nal — Rajsamand

(B) Kesarbagh — Dholpur

(C) Bassi — Chittorgarh

(D) Shergarh — Baran

frefofad § & o9 w1 (WRféa & — 5
Afera e 27

(A) BAIR! B 1A — ITGHE

(B) HER 41T — HiaTR

(©) =1 — fedieTe

(D) TG — IR



’ y which of the following are the corre

tion | : Ctpairs of 10. Who was the saint who narrated the teachings
,‘nscﬂl’“”“) prashasti and their year of of Dadu while disguised as a bridegroom for
scription’? . Sgur
"Nn{ ' - the rest of his life?
(1) Achaleshwar Inscription — 1285 AD (A) Sundardas ji (B) Rajjab ji

(2) Bijolia Inscription — 1170 AD

D) Madho Das ji
(3) Chirwa Inscription - 987 A (C) Rampal Dasji (D) Madho Das

(4) Kumbhalgarh Prashastj — 1460 AD A R ;{(;g @ o1 % EY g0 @rq & Il
Choose the correct code - " ) T e B X .
(A) 1,2 and 3 (B)l.2and4 (A)War\qcﬁ (B) 7o7d
(C) only 2 and 3 (D) only 1 and 4 © aa A (D) S
frfoRed & ¥ Rrearerg /R R g 1. Paryusha.n Parva is related to which
S T B T WR P Y %x? community?
(1) iR Rreorg — 1285 § (A) Sindhi (B) Sikh
(2) RS Riemerg — 1703 (C) Jain (D) Ramsvnehl
(4) FRTerTE TR — 1460 ( At) Rih 3 (B) R
?f'lmf @;RH "“'(EB)‘ , ©) 3= (D) RTEEY
-t . 24 , 12. The ruler of Jodhpur at the time of Revolt of
(C) Bad 2174 3 (D) B3t 1 va 4 1857 was - :
When was the Rajasthan State Information (A) Maharaja Man Singh
Commission constituted? (B) Maharaja T akhat Singh .
(A) April 18, 2006 E
o of ober 2. 2005 (C) Maharaja Sardar Singh
(C) June 5, 2006 : (D) Maharaja Bakhat Singh

(D) May 12, 2005
Y 1857 @ s & W WNR @1 e

RISTRIT XY &1 3R BT TS B fohar o —

T or? ~ (A) 7R 79 Rig

(A) 18 3%, 2006 (B) weRTeT T Rig

(B) 2 3raTaR, 2005 ‘ (C) WERTeT WRER R

() 55, 2006 | (D) werToT T g

(D) 12 %, 2005 | 13 The famous theater director Shanta Gandhji
Vindhyan Escarpment are made of which type was associated with which of the following
of rocks? ' ' drama styles?

(A) Basalt (B) Quartzite (A) Gavari (B) Swang

(C) Sandstone (D) Granite (C) Bhavai (D) Rammat

e o fow yoR A TeFt ¥ At yRrg Rrier fiders wiar Tl Frefefag &
&? W f5e ey deh & Fafg o

(A) 397 (B) qareTse (A) T (B) wrr

(C) a1q@T ek (D) 3Trge (C) yarg (D) v=7q
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4. The achievements of the rulers of which
dynasty are mentioned in the Bijolia
Inscription?

(A) Sisodias (B) Chauhans

(C) Rathores (D) Parmars

fRsitfor Rrarem ® 59 Ju & Pl @)
IUARRN T Seoid 27 |
(A) Ry (B) de™

(C) xee (D) TR

15. First rope-way in Rajasthan was started in

which district?

(A) Udaipur (B) Jalore

(C) Jaipur (D) Ajmer -

ORI W X194 fba Ryer # o fbar
a7 o1?

(A) SR (B) STTeiR

(C) TR (D) TR

16. The Uparmal Panch Board was formed by —
(A) Sadhu Sitaram Das -
(B) Manna Patel
(C) Motilal Tejawat
(D) Vijay Singh Pathik
SURHIST UF dre BT oA fbar o —

(A) w1y HaRM 3N A

(B) =T weeT E‘&*
(C) wirdremmer e A |
(D) fawra g afdr A

17. Indian Railways Research and Training

Centre is situated in —
(A) Udaipur (B) Jaipur
(C) Jodhpur (D) Pachpadra
R X e Td URero] S Sfaferd
g -
(A) SR # (B) TR #
(C) SrrgR % (D) T=geRT §
130

18. ‘Ramjhol” s which type of folk Musical

19.

20.

21,

instrument?
(A) Membranophonic (Avanaddha)

(B) ('hordophonic (Tat)
(C) Aerophonic (Sushir)
(D) Autophonic (Ghan)

srsier (a1 geT BT A arel 7 27
(A) ara-is

(B) @

(C) gk

(D) g

The Commission, which recommended for a
fixed five year term for the Governors —
(A) Rajamannar Commission

(B) Punchhi Commission

(C) Shah Commission

(D) Liberhan Commission

Aifved srfwe B Gdfd P —

(A) ISR 3TN

(B) g1 3MART

(C) 3 TN

(D) forseT™ ST

The difference between north to south and east
to west extension of Rajasthan is -

(A) 41 Kilometers (B) 42 Kilometers

(C) 40 Kilometers (D) 43 Kilometers

RO & IR | SR qeT qd | uf¥ew
faR # o=k © —

(A) 41 fpeirfier  (B) 42 fdeimier
(C) 40 faarrex (D) 43 fdemier
The highest Plateau of Rajasthan is -
(A) Mesa (B) Hadoti

(C) Bhorat (D) Oriya

TS $1 |ared USR & —
(A) #T (B) ETerdY
(C) WRTe (D) Sfea
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22. Which one of the following (Lify Canal Project 25,

In which language is the Ghosundi inscription
~ Drinking water availability area) is not written?
correctly matched? (A) Prakrit (B) Rajasthani
(A) Kanwar Sen — Bikaner, Ganganagay (€) Apabhransh (D) Sanskrit
(B) Gandheli Sahwa — Churu
(C) Gajner/Pannalal Barupal Bikaner, ) et o e o frfaag 37
Nagaur I
(D) Rajeev Gandhi — Jaisalmer ((AC)) j:?;g[ (;)) :j;;ﬁ”f
o & & S (fome v R 26. ‘Olyun’ is associated with which occasion of
— VOV IuTerd &8F) AN w8 22 Rajasthani folk life?
(A) R I — fHR, TR (A) Birth occasion song of son
(B) o rRaT — TS (B) Daughters wedding farewell s;‘ong
(C) TSR/ USITAT ITOUTH — PR, AR (C) Folk dance performed on Holi
(D) XTSitE Wik — SrEeR (D) Wedding reception song
23. National Highway 44 (NH44) passes through W IISRAT A A P 6T T |
which district of Rajasthan? | B
ot ) 53 i A
(C) Sawai Madhopur ®) g fore P e .
(D) Dholpur | , (©) Behl R vt ST e @D Ko
(D) IRTT @Y ITEE HT A
T ISERE 44 (NH44) I & b 27. Hurda Conference was convened in the year -
fSTel 91 [orear 82 (A) 1734 AD (B) 1740 AD
(A) *ReqR (C) 1804 AD (D) 1757 AD
(B) Fretr
(C) Farg AmigR | TS T b af sl ga?
] (D) eifeTqR ' (A) 1734 . (B) 1740 §.
gﬁ; rfoil;t];uuclzzcli? Chaurasi Khambon Ki | © 18045 © 1757
(A) Rao Anirudh - | 28 The field of Sitaram Lalas was -
(B) Rao Shatru Sal | (R) Archaeology and history
(©) Maharao Budh Singh (B) Rajasthani language and lexicography
(D) Maharao Vishnu Singh (C) Journalism
(D) Social reform sean,
T # AR @i ) oty 7 P | &
eRaET? ' VAR oo @1 8 RaT —
(A) %19 3rfreg (A) [RTT v g
(B) 319 erprer (B) Trsteer w1 Ud ey <y
©) Tere g Rig (C) gzam1Rar
(D) 7ERTg fawy Rig (D) ¥t o
113D
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29, SO
In which district is the Shiv temple of
Charchoma located?

(A) Jhalawar (B) Kota

(C) Bundi (D) Tonk

TR AT BT Rrefw 5 e & sraRerd 87
(A) FreaTe (B) dreT

(©) g (D) <

30. Which breed of sheep in Rajasthan is known
as ‘Indian Merino’?
(A) Chokla
(C) Pugal

(B) Malpuri
(D) Magra

TR ¥ s A 5 T B ARG ARAT

RIS
(A) Tt (B) wTeTgsT
(C) qret (D) 7T
31. At which place did  Shobhalal Gupta

established an Ashram for the development of
Harijans and Bhils?

(A) Banswara (B) Alwar

(C) Wardha (D) Saagwara

T el T g7 5 I R ERE Ud
Al @ fAerd 3G UF A3H &I AT B
Tg?

(A) grarsT (B) 3retax

(C) qurf (D) ATTATST

32. Transverse sand dunes are found in which
districts of Rajasthan?
(A) Bikaner-Ganganagar
(B) Jodhpur-Barmer
(C) Jalore-Pali
(D) Jodhpur-Nagaur

Je

IR ATIHT e IO B e e+
firera 2?

(A) HTR—TAR
(B) SIerR—aTeiR
(C) STAR—Teh

(D) SRR

33.

i dor
On which part of female body 18 Kandora

ornament worn”?
(A) Ears

(B) Waist

(C) Hands

(D) Forehead
e sgen fo e b e T T
14

(A) BT

(B) X

(C) BTe1

(D) <TeiTe

- Which period of the ruler of Kota is supposed

to be the excellent period for the Kota school
of Paintings?

(A) Maharao Shatru Sal Singh I

(B) Maharao Kishor Singh

(C) Maharao Ummed Singh I

(D) Maharao Shatru Sal Singh II

P B frg D B BT BT BICT Thel D
Rl 3T Scpte BIel AT O AT 87
(A) weRTE T Rig 1

(B) werma fHeR Rig

(C) 7ERT SRE RiE 1

(D) weRTg AT g 11

- In which battle did Maharana Sanga defeat

Babur’s army?

(A) First Battle of Panipat
(B) Battle of Ghaghara

(C) Battle of Khanwa -

(D) Battle of Bayana

Wﬂmﬁﬁm%ﬁwﬁwﬁ
BRgT?

(A) UTUd &7 Hom g

(B) &TeRT gg

(C) @ar gg

(D) T g5

139
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36. Which of the following is a fertilizer mineral

of Rajasthan? 40. The uulhn’r‘ ‘of the book entitled “Bhagat
(&) Gypsum ®) Movement™ is
0) PyP\ b ROCk"\Ph”“P‘““C (A) GG.N.Sharma (B) V.K.Vashishtha
(C) Pynte (D) All of the above (C) Rima Hooja (D) Pemaram
e # B H QD SRS w2 e R A & A A JEE @
(A) Rrew (B) Th—-tpivspe e ¥ -
(C) uTERTEE (D) IR Wi (A) i 97er (B) 1 afires
37. The purpose of Rajasthan Public Scrvic({}‘: (C) dwr 7l (D) gATTH
Guaral?tee st 20115 - (;)) 41. The metal having the lowest temperature
(A) Brmg Transparency ‘éj coefficient of resistance is —
(B) Providing Grievance Redressag?j (A) Gold . (B) Copper
Mechanism : — (C) Aluminium (D) Kanthal
(C) Right to receive service *=
(D) All of the above fry eI T A A Wi 27
- ~ (A) TS (B) R
IOTRIE dth qaT TRET AR, 2011 Eﬁucg (©) vt (D) el
g | 42. A 40KkVA transformer has core loss of 400 W
(A) e @ % & full load copper loss of 800 W, The
(B) Rrerd AR T3 SU@l HRA™T o proportion of full load at maximum efficiency
(C) ar ik &1 IHR < — is—
(D) Sugad ' (A) 50% (B) 62.3%
38. What is the share of Narmada river given tq__ .(€) 70.7% (D) 100%
Rajasthan? Tp] ; Cue . .
(A) 1.90 MAF (B) 8.60 MAF - T& 40 kKVA TRGFR § R g 400 W T
' S ol oS PR A 800 W ¥ | iferde &feiett
(C)9.10MAF (D) 0.50 MAF = g
& ¥ fha e | dre BT MY
e )
R P ARET A& B o R i (A) 50% (8) 62.3%
o 7 o (C) 70.7% | | (D) 100%
(A) 1.90 MAF (B) 8.60 MAF [B - i{;)AC ‘rotatmg m?\chmes, 'the generated EMF -
(€) 9.10 MAF (D) 0.50 MAF 3 Is in phase with working flux ¢,
(= (B) Leads ¢ by 90°
39. In which Peasant Movement were the twaD . .
e aamayedf | a0ty %0 Wi
farmers Rupaji and Kripaji Dhakad martyre 32 (D) None of these
(A) Bijolia (B) Begun —
(C) Barad (D) Bikaner v efem wiH ¥ faega aee 9o (EMF)
B —
S T4 PUH epe A < e (A) BT T (9) B T B H
FNF I B AN Tes §Y7 (B) 90° gRT ¢ & 3
(A) fastiferan (B) 97 (€) 90° grT ¢ & UIT
(€) e (D) TR (0) g | Prg Tl
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e s A A

44, e
In CSI if frequency of output voltage is fHz,

45.

46.

1130

then frequency of voltage Input to CSTis -
(A) f

B) 2f -

©) 12

(D) 3¢

CSI1¥ afe aneeye aeewt angRy 1 &dul o)

gs‘%.aicsmﬁs—«fgeaﬁ?ém & agfy
(A) t

(B) 2f -

©) 2

(D) 3f

The most economic load on an overhead line
is —

(A) Greater than natural load
(B) Less than natural load -
(C) Equal to natural load

(D) None of these

The voltage at two ends of a line are 132 kV
and its reactance is 40Q. The capacity of the
line is —

(A) 435.6 MW

(B) 217.5 MW

(C) 251.5 MW

(D) 500 MW

Ug g & <H RRI W dieedt 132kV €
7 3 yfadd (Ruacs) 40 Q 8 | @g 3
T Bl —

(A) 435.6 MW

(B) 217.5 MW

(C) 251.5 MW

(D) 500 MW

47.

48.

The most commonly used method for
protection of 3 phase feeder is —
(A) Time Graded Protection

(B) Differential Protection

.(C) Reverse Power Protection

(D) None of the these

of) it e @ e B T ST T
2 _

(A) TTeH WSS UICHaT

(B) feprferae greaar

(C) Red graR greaz

(D) 574 & BIg e

For the SFG shown below, the gréph

determinant A is -

o () 1-be-fg-befgcigj

(B) 1-be-fg-cigj +befg
(C) 1+bc+fg+cigj-befg
(D) 1+bc+fg+bcfg-cigj

g9 70 SEG & fow o fFuiRe A § -

(A) 1-be-fg-befg+eigj

(B) 1-be-fy-cigj +befg
(C) I+be+g+cigj-befg
(D) 1+bc+fg+b0fg-cigj
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49. The modulating frequency in frequency
modulation is increased from 10 kHz 10 20
kHz. The bandwidth is -
(A) Doubled
(B) Halved -
(C) Increased by 20 kHz

(D) Increased tremendously

b

10 kKHz @ 20 kHz @ SGRN TR, @
Jefsy gl -

(A) ST

(B) el

(C) 20 kHz T& a1l
(D) ggaa # Fel
Comment on the stability ‘of control system
whose characteristic equation is given by —
¢ 428t 42457 + 4857 =255 -50=0

(A) Stable

(B) Marginally stable

(C) Insufficient data

52.

50.

= 51,

ﬁmqhﬁmmmwﬂlﬁﬁm‘

2Q

(A) 0.908 amp
(B) 0.112 amp
(C) 0.412 amp
(D) 1.11 amp
When port 1 of two port circuit is short
circuited, I} =4 & Va2 = 0.251,. Which of the
following is true?
(A) Y 1=4

(©) Y21=16

1(B) Y12=16
(D) Y22=0.25

o9 @ O Wi B o 1 @ A |He
frr W ®, @ L = 4L @ V2 = 025121
Preffad § | B a1 T3 87

(A) Y =4

(B) Y12=16
(D) Unstable (©) Y21=16 (D) ¥2=0.25
A 53. If the load impedance is 20 — j20, the power
Fole Red 3 Rerdm w® feaof BT, - factor is -
WW{WWMW%— (A) £ -45° (B) 0.
5+ 28t + 24s% + 485 - 255 -50=0 ©1 +(D) 0.707
(A) ReR
(B) ATt ReR IR dirs g 20 —j20 R, A1 TR HheareR
(©) <reT 7T TE & BT —
(D) a1ferR (R) £ -45° ®)0
Find current I by super position theorem — ©1 (D) 0.707
50 54. Secondary Breakdown occurs in -
9 M e (A) MOSFET
20 +4Q SELET
A e (C) Both
sV@® 1| 26Q (ibmv (D) None of these
) : Fbed THSSA B © —
¢(A) 0.908 amp (A) MOSFET
(B) 0.112 amp (B) BJT
(C) 0.412 amp (€) T
@ 1itamp (D) 37 § T
"M3O
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62-

55. ; . “Jo 59. VAh metering can be done by using —

The inverse Fourier Transform of 24j0 is - (A) Ball & Disc Friction Gearing

(A) g=2t *(B) e 2tU(t— 1) - (B) Trivector meter

(©) e=2(+-1) (D) e-2t-D (¢ — 1) (C) Bridge Connected rectifiers

» (D) All of the above

R

24j T PIRER SIwT BT — VAh AERAT & uam g f& S
(A) g—2t (B) e=2ty(t — 1) 2l

(C) g—2(t-1) (D) g=2(t-Dy(t — 1) (A) dfat g f&wp fohaer firaf

56, An UJT exhibits negative resistance region - (B) TR Hrex E
(A) Before Peak Point (©) first FaCS e
+(B) Between Peak & Valley Point (D IR I
(C) After Valley Point 60. In an electronic ohmmeter, OP — AMP is used
(D) None of the above for —
.(A) Summer (B) Multiplier

UIT ¥, fritfea ey &, o g‘ﬁn g - +(C) Buffer Amplifier (D) Integrator

(A) i dige B UEa |

(B) di wige T Ioh Wi & e wﬁz@’ﬁm@gﬁﬁﬁaﬂﬁ.—q.@ﬂﬁ
(C) & @rge & 9% AT § —

(D) 399 & @Iz el ' (A) HhaTd (B) T

57. The no load current in transformer lags (C) TR TaID (D) TN Bl
applied voltage by — 61. The angle condition in a Root locus is given
(A) 90°, (B) 75° by —
y
(©) 0° (D) 110° . (A) / G(s)H(s) =+ 180 2k + 1);k =0, 1,2.3
rehiy 4 A e e, wr deew § 99 (B) £ G(s)H(s) =% 90 (2k + 1): k=0, 1,23
BT & — ‘
o) o B) <o R O
() 90 (B) 75 (C) £ G(s)H(s) =+ 360 (2k + 1);k =0, 1,2,3
(C) 0° ®110° | e
58. A | — Phase full bridge inverter can operate in (D) None of thesé

load — commutation mode in case load

Fe A9 ¥ a1 Rafy A # fhas

consists of —

(A) RL .(B) RLC underdamped gRI & TS 87
(C) RC (D) RLC Over damped (A) Z G(s)H(s) =+ 180 (2k + 1); k=0,1,2,3
U | — B el il $aeX B Are—HeIH (B)Q ....

v , G(s)H(s) =+ 90 (2k + 1); k =
Ae o s Eem g IR A A | L. Her k=0 b
BT — (C) £ G(s)H(s)=+360 2k + 1); k=0,1,2.73
(A) RL (B)RLCaieedee | e o
(C) RC (D) RLC 3R ¥ws (D) 3% | @13 e

K
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~ n the Mason’s Gain formula for signal flow

_ EGyA
graph( = ‘; k). Gy represents —

(A) Gain of the k™ forward path
(B) Gain of the k™" reverse path

() Reverse gain of the k™ forward path
(D) None of these

Rre wo TE B A A W sl
(T= L) ¥ G, wRFRIE oo &
(A) kb B 3 D I BT A
B) Kkt B 98 BT T BT AW
©) k™ I B TA P IecT AN
(D) &7 ¥ Tre T

63. Response of the first order system subjected to
unit step input is given by —
A Ct=1-¢"T

(B) C(t) = e“/T »
©CcH=e'T-1

(D) None of these |,

e VY TE B W T ol R

& ufeean fes grRr & 18 72

ACH=1-¢T @B Ct)=e

©Cch=e"T-1 (0) g § T T&
64. nduction Generator works between the slip —

(A)1<S<2 =(B) 0.1<S<1

(€) S<0.0 (D) None of these

sgq wikey, Req @ 99 ol FRal B
(A)1<S<2 B)0.1<S<1

(€ $<0.0 (D) T | PIg Bl

65. The coefficient of reflection for current for an
open ended line is —
«(A) 1.0

©€)-1.0

.(B)0.S5
(D) Zero

(A) 1.0 (8) 0.5
©)-10 (D) 0 (STRY)
1130

66.

67.

68.

Creeping in | — phase Induction type energy
meter may be due to -

(A) Overcompensation for friction
¥B) Overvoltage '

(C) Vibrations

AD) All of the above

| — ol geaE e T AreR #
1 HRUT B -

(A) Trdor @ frg afaR—FHUAEI
(B) aMeR—adTec ol

(C) argaer

¢
(D) SwRYa A4l

A feedback system is stable, if the number of
Ze10s (Z) of a characteristic equation in the
right half of s-plane is -

ANZ=1.

®Z=0

©z=2

(D) None of these

e wREw e feR R, A | B
TR oW R A o EPwa whex &
Tt (Z) B e € -

(A Z=1

B)Z=0

€ z=2

(D) 3% ¥ B TR

Bode plot consists of two separate plots, one
of which consists of —

{A) 20 log1o IG(jm)! Vs log ®
(B) 20 log10!IG(jw)l Vs @

©) o3 e Vs o

(D) None of these

AIe wie ¥ < AT T Wie B €,
J e A BT e -

(A) 20 logio IG(®)!I Vs log ®

(B) 20 log10IG(jw)! Vs &

(C) Phase shift Vs ®

(D) 379 | B L
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69. Transmission bandwidth (B) of AM signal

is —
(A) W,
©) 2 om

(B) c‘)l“/2
* (D) 4 o

N~
AM ﬁw@ A crafte Jsfisy (B) 81

-9
) o &S (B) wn2
(€) 2 wng (D) 4 W

70. Constanfan Contains —
(A) Silver & Tin
(B) Copper & Tungsten
¢ (C) Tun gn & Silver
(D) Coppep & Nickel

()
Fiecd e # -
(A) T T fes
(B) BfR g SR
(C) Tied g dfdl
(D) e g-fdet

e

(Kip} .
71. One of @ following can acts as an Inverse

Transdu@?
(A) Electrieal Resistance Potentiometer
(B) LVDE.
(C) Capatitive Transducer
« (D) Piezo Electric Transducer

sﬂﬁﬁﬁﬂmﬁ;mwﬁaﬁm

(€) ?F'a'%@a CTASYRR
(0) HrICe T TR
72. The vahﬁbf state transition matrix (¢) for a

homogei@hs state equation, solved by
Laplace “transform method given by state

equation (x(t) = Ax(t) + Bu(t)). is —
(A) ¢(t) = L7[sI - A"

" (B) (1) = L7[sI - A]
(©) o(t) = [sT- A)

~ (D) None

_ ax(0) + Bu(®)) &R
ffer g Bt fbY TS
& forq araven AT

afaRer AHEROl ()’((t)
& 1 el Skskaul
AU TRl R Licaddl
e (¢) B A -
(A) (1) = L1~ Al
(B) g(t) = L1 [s1 - Al
() ¢(t) = [s1 - Al

(D) ®S TTEI . ’
73. The per unit impedance Zpuy 1IN 5 — phase

system is —
(A) Z(Q) X (MVAB)/(kv)rza
(B) Z(Q) X (kV)ZB/(MVAB)
(©) 1000 x (kV)s/V3 I8
(D) 1000 x (kV)s/18 X 108
w3-%ﬁmﬁmqﬁ€3’fﬁ@“ Zeww)
T o § -
(A) Z(Q) x (MVAg) /(KV)E
(B) Z(Q) x (KV)3/(MVAs)
4 (©) 1000 x (KV)g/V3 I
(D) 1000 x (KV)g/Ip X 108 :
74. The zero-sequence current of a generator for
line to ground fault is j2.4 pu. The current -

through neutral during the fault is —
(A) 2.4 PU (B) j0.8 PU

(©) j7.2 PU (D) j0.24 PU

e SFveR &g AT G
Ry HRe BT A j2.4 pu

e g H A BN —
(A) j2.4 PU (B) j0.8 PU
(C) j7.2PU (D) j0.24 PU

75. For maximum current during ‘Slip Test’ on a
synchronous machine, the armature mmf
aligns along -
(A) d-axis

. (C) 45° to d-axis

(B) g-axis
’ (D) 45° 10 g-axis

ma\”aa;_“” P BY, AR THIHOE. w3

(A) d-axis

(B) g-axis
(C) d-axis & 45°

1130

(©) g-axis & 45°

Page 12 of 24
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76. The
(A
©)

(A)
(C

78.



. The Transition Temperature of Mercury is - 79. |n a graded index fiber, total reflected light

(1) 18.0° K ®920k takes a -
12°K D) 1120 g
@4 (A) Straight path
70 &1 giforar R — (B) Parabolic path
(A) 18.0° K (B) 9.22° +(C) Elliptical path
(©) 4.12°K @ 1120k (D) Circular path
77. Permanent magnets are tested by -
(A) Ballistic methods [ )
_ o, @ Re R R ¥ dea Riaws
(8) Mutual inductance )
(C) Potentiometer method f’, e A &
[ .
(D) Betteridge Apparatus ° c?: (A) e T
MR
v (B) Raeg 1y
Wl g BT IQEr -
0 AT B e (O) eeigeo e
N ' t~. (D
(B) mggrT IS [ - AR a
(C) UrcRranfex Aerd . g}? In an autotransformer of vo/l{age ratio Vi/ Va
(D) 91 TlReq . : gf with V1> V3, the fraction of power transferred
78 Four alternators each rated at SMVA, 11kV | «. inductively is proportional to -
with 20% reactance are working in parallel. (A) Vi/ V, b’
. ' P T v
The short - circuit 1 is - i
rcuit level at bus bar is i__r_;) (B) Vy/ V, v
(A) 6.25 MVA = . v
(B) 20MVA = ©Vi- vy E
(©) 25 MVA 0 Vi- vy v,
(D) 100 MVA o
4 IEE, SR TS SMVA, 1V | TS AR Vil Vo, T V1> Vs B
T 20% RAww w PuiRa ¥ wi o | L0 ACTHEBIR ¥ 3w w7 @ wemiaRe i
::n‘\’%?lw—mmzﬁéﬂﬁﬁzm =, F A R e 27
p— c,}
(A) 625 M oy (A) Vi/ V2
25MVA Y
(B
(B) 20 MvA ® Vv,
©) 25 MVA ©) Vi- vy v,
(D) 100 MVA ©) V- vy Vs
113D

Page 13 of 24




U199 5ot e V) 3 TSR L 1 OR)
:Te; §, T SR et i 3 frg geaey
yaIfee sve gny
(A) TR g
®) TR 4
(©) 157 g
(D) 7= 4
82. An IGBT has 3 terminals called -

(A) Collector, Emitter & Base
(B) Drain, Source & Base

= (C) Drain, Source & Gate
(D) Collector, Emitter & Gate

IGBT & i =fifar ery -
(A) Foigex, THER 7 99
(B) 39, 9 7 &¥

(C) 2, 9 @ A

(D) Forgey, THICR T AT

83. The material used in liquid fuses is -
(A) SFq |
(B) Distilled water
(C) Carbon Tetra chloride

84. The maximum short circuit current occurs jp

case of -
(A) Three phase bolted fault
(B) Line to line fault
(€) 3 phase to ground fault
+ (D) Single line to ground fault

e Wit wfdhe arT T gl B
() oft B Afees BT
(B) g g, g PIeT
(C) 3% ¢TSS Hiee
(D) Rirer wTE g, TGS PIeT
85. Superconductivity is observed for —

(A) Infrared frequencies
(B) DC & low frequency

- (€) AC & high frequency

» (D) None of these

R 1 g 2 -
(&) o aTgRT

(B) S 3R P Mg

(€) T 3R warar amgfy

(D) g & FiE TE

86. The EMF equation of D.C. Machine is -

* (D) Transformer oil - (%) NozPI60A (8) PNZIGON
(C) PN/120 (D). Z¢/120P
forfaars vyt &g Suga AR € -
(A) SFs A 7 &1 Rea e g7 Tl -
(B) f¥frere A (A) NOZP/60A (8)
PNZ/60N
(C) B TET FEANTES
0) =i 3 (C) PN/120 (D) Z6/120P
113 @ Page 14 of 24



F

i magnetic feld in ampere/mey b

g ! petic flux density and s permegpy o

89.

113@

(C) B= pH

. Pu

"]ﬂgl

Ledium, then the true relation aMong them
fhe!

” L
H
(D) H= uB

pp=nth
i T TR 0 gy
B2 3 qa AR B Eey g

\

B p=t
wp=pth b=y
© B =Kt O'H=yp

1se stuffing isused in -

(A) gynchronous TDM (B) Asynchronous
TDM

(C) Any TDM (D) None of igae

g Ak YA A ey @ -

() R TDM  (B) TRMpw TpM
) et 1 TDM 3 (D) 7% & é

A signal (1) has energy E, then what will be
ihe energy of the signal f(2t) -

) 2E . B)ENR

(€) 4E (D) 3/4E

o 1@ REat f(t) B T E 2, o Rt
f(20) @ T BRI —

(A) 2E (B)E/2

(€) 4E (D) 3/4E

- What will be modulation index of an FM

signal which is being broadcast in the 88-108

MHz band? This FM wave has a carrier swing
of 125 kHz.

&) 759, (B) 62%

'(C) 83,39 (D) 90.5%

%% M Rt o i g aa 2,
T % 88108 MHz §3 ¥ stedre & e 2
\7’2"\’ e R 125 kHz #?

) 759, (B) 62%

(©) 8339, (D) 90.5%

oo Voltage
9. The Rate of Rise of Restriking

(RRRV) depends upon -

(A) System Voltage

(B) Circuit Power Factor only
(€) Switching condition only
.(D) Both (B) and (C)

st e of 1 70 (RRRY) P
et -

) Rree dreen :

(B) wfdiz grav dhacy

(©) B Rafirm Tére

(D) (B) @ (C) &

92. Find the resonant frequency o for the given
- RLC circuit -

10Q 2Henry 20pf
M——N—

C—)Q

- Yy =50sinax

*(A) @9 =0.158 x 10° rad / sec
(B) @y =2.5x 10% rad / sec

© @y =4231x10°rad / sec
(0) o =1.12 % 10% rad / sec

@ 1 RLC wRuy & fog jomEE
(Resonant) 3gRT wy ST PIRIT —
10Q 2 Henry

M— }ﬁzo“f

G-)F\,L

V =50sin ot

(A) @y =0.158 x 10° rad / sec
(B) o =2.5% 10° rad / sec

(©) o9 =42.31 x 103 rad / sec
(D) @y =1.12x 103 rad / sec

Page 15 of 24



94,

9. alann ~f
Find Laplace of the pulse given below 95.
S(1) 4\
| 4+
0 ) —
(A) e~25-e~*S (B) e-S—o25
S S
’(C) e—4s_e—25 (D) e_ZS_e_s
S S
96.
& &S Tew P AT S IO —
() A
1+
0 2 rnd
(A) e=25—e*5 (B) e~S—e 28
s s 97.
(©) e—45_g~28 (D) e—25_g~S
S S
Which one of the following theorems is a
manifestation of Law of Conservation of
Energy?
(A) Tellegen’s Theorem _
(B) Reciprocity Theorem ‘ E"‘E
(C) Thevenin’s Theorem.
(D) Norton’s Theorem
fre v B Holl ARET o o orf¥egad
fopa T el 27
(A) eferor &1 oLapl
(B) qrReRaal (W)
(C) gafAs1 &1 oL-p|
(D) sifeA &7 T
Page 16 of 24

113 O

i v, = 30 sin (0 F mf) & Vi |
50), correct satement 197 |
(A) v leads \'2

(B) V leads Vi

(C) V, lags Vi

(D) Vi ’5!}!9 Vo
q V2= 20 sin (ay

e V) =30sin (ot + 107) €
4 500) @ #T1 g -
(A) v, T 2 7Rl

(B) VAT gy, 4

() v, 01 > v, 4

0 v, s 2 V2T

istor, holding curren
g curre

rrent (IL)
nt (IL)

t (Te) 18 ~

In thyr
. nt (IL)

(A) More than Latchin
(B) Less than Latching cU
(C) Equal to Latching curr®

(D) Very small

oafeeR ¥, BifeeT Hee (In) —

() A e (1) & ST &

@) afiT ae () 3 T &

(©) 3 @R (1) B TR ET

(D) Igd ®H =l

In a biased differential relay, the bias is

defined as a ratio of - l

(A) Number of turn
operating coil

(B) Operating coil current and restraining col

s of restraining and

current
(C) Fault current and restraining coil current

(D) Fault current and operating coil current

v AT oradel Rel & I fbeid g

¥ gRefie forar S 87

(A) RS 3R waATed Heell 3 g @
T

(B) yaTe dsell due 3R ﬁm% e
e

R R LR rw———

(0) si%r e AR S e e

= 20 sin (ot 4 |

[{9)



what is the total angular period in e cireyit
sown below for which diode Provides half
‘ cctification?

)

96

wave !

100sin©

N 150° B) 1200
(©) 180° « (D) 9¢e
53 R T aRw 4 o P AgRY Freq

<gaE] BT 87

NL_
1
100sin 0 . : 3Q
_|_ 50V
(A) 150° (B) 120°
() 180° (D) 90°

99. A linear time — invariant system initially at

rest, when subjected to a unit — step input gives -

a response y(t) = te; t > 0. The transfer
function of the system is —

(A 1 (B)_S
s(s+1)? (s+1)? .
€ _1 o 1 ﬁ
f o s(s+) (s+1)2

UG Wgd I - IEd e urw ¥
faRmawen § 8 W4 e — ®RU 9 @

giafeha y(t) = te™; t> 0 <1 2| P &
RIFTRY Gl & —

1 ”
00. Figure shows the Nyqnisl plo

¢ of the open ~

a
loop transfer function (i(ﬂ)H(s) of

(}(‘%)H(q) hﬂﬂ one Tight hﬂnd p()le.
~loop system ig -

0 positive

(A) Always stable
.(B) Unstable with one closed — 100p Tight hand
pole
(C) Unstable with two closed - loop right hand
poles ‘
(D) Unstable with three closed — loop right
hand poles

GeH() & TRfme ava o1 e
T 2| AR Ges)H(s) @ TF i RSB g
8, i ¥qa qu e ¥ -

Lo ‘ ? |, GH-Plane

® positive

(A) gem Rer

(B) U6 Hgd — o IR WG ga d W
R

(©) 2 W — U T WF a3 w6
3R

(0) & WgT — 9 I WG @ D A
afReR

(A 1 (B) s
s(s+1)2 (s+1)2
€ _1 (D) 1
s(s+1) (s+1)2
1M13O
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102.

£

103.

circuit using IC 55 :

101, 1f transformer frequeéncy is .
ch jviberat® ;

Hz to 60 Hz, the ratio of eddy :Zied from 50 104. An actable ml:]lt;:;ow. Assume that the cireyj;
Hz to 50 Hz at constant vo age is fnt loss 60 timer fS Sh.zw eadily- The voltage Ve acrogg
(A) 25/36 - w):/ﬁ, s oscllaL 18 s betweel
(© 1.0 D) g5 Eﬁ the CW

: (D) g
4 8
afe erawiit @ IR 50 1, 9 kg [ (rebed) (supp1y)
& R 24 60 Hz g5¢1 | >
& w2 A I TR w0, 4 50 L) shold)
Hz &1 @ee efd T AU @ - ol || p(Thre )3l
(A) 25/36 '(B) 5/6 P i § (Outpy
(€) 1.0 (D) 6/5 17 , >
An alternator of 300 KW is driven by a prime |_{a(Tr igger
mover of speed regulation 4% and another (Ground)l
alternator of 200 kKW driven by a prime mover (Di schargd)
if speed regulation 3%, when operating in 12K
parallel. the total l0ad they can take without
any of them being oveloaded is — fl 3 Ve 0.01pf
(A) 425 kW (B) 567 kW e
L
(C) 500 kW (D) 257 kW P = 8 3V06Y
4 w3vVwsV D ViS5V
300kwa%wmmﬁasaﬁ4%vﬁﬁumii @36vwsy @7 -
oSl 555 TR P Saart
& 1@ Wigd TaR KT T I & 3R 200 ‘ o Fre TR
KW B IR T B 3% T P @ Teedd e o @
e IR ) e & fr @fbe AMAR CCk! .
T g 0 e o & e SN
N TG .o B O L L A @ UR dieett TE
aﬁmﬁagﬁzﬁﬁmﬁ@ﬂwwmpg e vEd ¢
(A) 425 kW (B) 567 kW < 30K 3 (Re,;,et) (Su%ply)
(C) 500 kW (D) 257 kW
33 KV ol circuit breaker is - || 6(Threshold )
A three — phase, oil circuit breaker is {) 3
ap) 2 (0] t)3 p—o
ated 1200 A, 2000 MVA, 3s. The 10K 3 (Output)
symmetrical breaking current is — ' n ) (trgger)
(A) 1200 A (B) 35kA P rigger
(C) 104.8 kKA (D) 3600 A M ' (Ground )1
(Dllscharge)
; ’ 12K
@ 3, 33 kV aifger aRw s 31 1200 ; ]
A, 2000 MVA, 3s T fafRa faar g S
Tt 4T o1 & — T
A B =
(A) 1200 A (B) 35 kA A3V 105V I
Cc D
(C) 104.8 kA (D) 3600 A (€©)36Vto6V 0)3.6Vto5V
Page 18 of 24
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# To mimmlz.e the current choppin
the SFe gas is used at —

(A) Low Velocity and low Pressure
(B) High Velocity and low Pressyre .
(C) Low Velocity and high Pressure
(D) High Velocity and high Pressure

g tendency,

mwmaﬁwm%mw
SFe fF ¥R W ¥ off S 27

(A) &9 9T AR T TW
(B) I= I AR FH TW
(C) T AT AR I= TW
(D) 3= I AR IH TW

- If the fault current is 2000A, the relay setting
is 50% and CT ratio is 400/5, the plug setting

multiplier will be -
(A) 25 A (B) 15A
(©) 50 A V) 10 A

IR wiee FIE 2000A &, Rl Afw 50% @
3R CT U 400/5 &, @ < QT o
R —

(A) 25 A (B)15A

(©) 50 A D 10A

The insulation resistance of a cable of length
10 km is 1IMQ. For a length of 100 km of the

same cable, the insulation resistance will be -
(A) 1IMQ

107.

(B) 10MQ x

JHoima

@) 0.01MQ

i

10 {6 #. wag B 1F daa a1 fde@ o
gfeke IMQ 1 100 5 A, @@ W H B

182 P4
VUV U

g g o g g
A"

108

long
* Bulk power trangmigsion over

HVDC

. f-
lines are preferred, on ;mcﬂ"“[ @

(A) Tow cost of HYp: terminals
(B) simple protection
(€) no harmonic problems

, (D) minimum line power loss€s

109.

ol HVDC argeg o A T FAR
Y yrorfiymer & 27
(A HVDC efifett o &7 AT
(B) wyrr=t e / o
(©) 7§ e T T
(D) e gt i afc |
Match  List-I  (Quantity) with  List-II
(Dimensions) and select the correct answer
using the codes given below the ists -
List-1 List-11

A. EMF 1. [MT-zl-l]
B. Magnetic flux density 2. (M L7 T° I’
C. Magpetizing force 3. ML T T]
D. Reluctance 4.[L'1]
Code - )
(A) A-(2), B-(1), C-(3), D-(4)
(B) A-(3), B<(1), C-(2), D-(4)
»(C) A-(3); B-(2), C-(4), D(1) ~

(D) A-(3), B-(1), C-(4), D-(2)

- @Raen) @ g @) & |
FAer i AR gt & i Ry W g
B T $Rd §Y el SR g —

-l -1
A 3TATS. 1. [MT2 1Y
B. ¥Mie® Toad o 2. (M L2 T21)

C. g=aIg 3.IMLAT3 1Y
@ ford, fagga wn fRer &7 - D. Reraew 4. (L)
(A) IMQ Ho—
(B) 10MQ (A) A-(2), B-(1), C-(3), D-(4)
©) 0.1MQ (B) A-(3), B-(1), C-(2), D-(4)
(©) A-(3), B-(2), C-(4), D-(1)
D
®) 00mo (D) A-(3), B-(1), C-(4), D-(2)
1130
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10.
The total current I = J, +1
lLlllt 1S

measured as I = 150 + | o 1
» 2 =

n das '(’lhd

250 + 9A,

ard

deviations, Current [ is Measy g
Nired ag -

XA) 40
043
( ) A ®) 400 1594 5

© @0+ 1558 0 (490, A

T RS N TP =14 1y 57 oy |,

=150i1A,12=250i2A%mm§ |
ﬁmwﬁwmﬁmmm

I T 9o fbar oI e -
(A) (400+3) A (B) 400+ 2.24) A
© @orus)a ) @00+1)A

1117 For measurement of- induciance having high

value, we should use -

() Maxwell's bride

(B) Maxwell Wein bridge . E
(C) Hay'’s bridge

(D) None of the above

S 7 16 IRad @ WG S ford, & W
o AmMey -

(A) #qad fadt

(B) #gda 9 o -

©thw

(D) SR ¥ | g TEI

1130

1 . , .
2. A resistance wire strain gauge uses a sof
T

wire of small diameter. The gauge faClOri
- Sy

4.2. Neglecting the piezoresistive effecy 0 {
* g

Poisson’s ratio is-

(A) 2.6 * (B) 0.625
©) 1.6 (D) 2.1
e RN e fagfer AT BIE A 5

ae R 1 i et & 1 A T
¥ w-faga el @ ATI A

o 39T € —
(A) 2.6 (B) 0.625
(€) 1.6 (D) 2.1

113. The sum of the gains of the feedback path i

the signél flow graph shown in figure is -

X (A) af + be + cd + abef + abcdef
(B) af + be + cd + cbef + bede + abedef

¢« (C) af + be +cd
(D) af + be + cd + abef + bede

R # weffi Wad waE ARG H e T
ATt @Y il @1 A g -
1 a b C 1

(A) af + be + cd + abef + abcdef

(B) af + be + cd + cbef + bede + abedcf
(C) af + be + cd

(D) af + be + cd + abef + bcde
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| and Fig2,
414. Given that H=0.5 e "M sin (10% — 2x)a, A/m. .

. in Fi
16. Consider the system shown n

10% in
) - . uced by
which of these statement are incorrect? if the forward path gain '° red - d Ca
..ion in L@
(A) o= 0.1 Np/m cach system. then the yariatio
(B) p =-2rad/m will be respectively —
2 1 .
1
(€©) @ = 10" rad/s 7 fQi‘ )‘?}/@"—/)
(D) The wave travels along ay ——

Fig. 1

R R H=05¢""sin (10° - 2x)a, A/m

g A Y B B A[A {72

(A) a = 0.1 Np/m

(B) B = -2 rad/m

Fig- 2

(€) @ = 10° rad/s
(D) o, ® WTIE AT A BT 7|

(A) 10% and 10%
(B) 2% and 10%

115. The transconductance gmof a JFET is equal (C) 10% and 1%

- Jars
- «(D) 5 % and 1% E
(1-5)
N " %‘alaﬁ?'ﬁazﬁwﬁqmmmﬁaﬂ
. (A) —2Ipss

Vp

$® _lvzp_l (\/ IDSS — ID)

(C) —2\:55 (1 _ VTGPE)

aﬁm\nﬁmﬁqﬁqﬁaﬁmﬁm
¥ 10% @9 B & wier g, @ G AR C
¥ oRad o B —

R Cc

1
S

U JFET @ sraaraddl gmw%—

Ipss (1 _ ‘&S_)
Vp Vp
(A) —2Ipss
Vp

® = (JToss — o)

Fig.2
(A) 10% 3R 10%

(B) 2% IR 10%

v v ©) 10% AR 1%
(D) Ipss Vg
Vo (1- v:) @) 5% AR 1%
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M7, A cep-up choppe’ 1S USed to deliver load
* A step-

118,

o0V from a 220V dc. source. If

s
voltage of ! .
the blocking pfﬁ"d Of the thyristor is 80 s,

the required pulse width s -

- (A) 50.8 ps

(B) 101.8 s
(€) 92.4 s
(D) 152.4 ps

S00 VP AT TR H 20V B g0 11

T TEAH B U TP Ry gy :
mm%mméluﬁ%aﬂ

(A) 50.8 s
®) 101.8 s
© 92.4 s
©) 152.4 s

A travelling waye 40071/ ‘
of - 50 meang crest valye

ier has the greatest
; harge carrier
119. which type of ¢

mobility? '
(A) Positive ions |
(B) Negative ions
~(C) Free Electrons

(D) Holes

120, . . o
What is the Mmagnetic Susceptibility of an jde al

Superconductory
(A) 1

X(B) . 1

©) o | I.EE:

T et e |
T &2 aﬂmm
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